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Exercise 1. Gin ' an t•xampll' of a 1'11 11ct ion f : [O. I] -+ II-:'. that i~ i11jec-t iv,· rn1d not 111rn 1ol0Jlf' . Gi\11' th<· ,-xplic-it fonn 11l ,1 
for .f and plot its grnph. 
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Exercise 2. Let A be a non-empty sub t of Iii symmetric with respect to 0, and let / : A ~ R. Recall the definition 
of ".( is odd .·' 
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Exercise 3 . Linearize the following trigonometric e..-..;pressio n: 

-
Exercise 4. Let 

/ :JR --, JR 
X >--------t 3x+2. 

Show that / is a bijection and determine 1- 1. You may use the back of this sheet if your answer doesn't fit in the box 
below. 
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~ (A-) :: t:) c:'-=) 3 fJ(. ~ z. = ~ 
C:=) 3 x. :: ~ - 2... 
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S,~ Ct_ gc~) :: ~ -> <.t ::c ~ - 2- rt~~ t ~ i~Q_ J,;,_g_ . ~ ~ 1 f:\; L t 112 So g .· ~ 
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Exercise 5. Let x , y ER. Reca ll the product formula 


